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Minor 1 Comumunication Systems (EELL06O) Hid Sem 201213
Max Marks: 50 Duration: 1 hour
Note: All questions carry equal marks

QL.
Evaluate the inverse Fourier transform g(¢) of the one-sided lrequency function
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Hence, show that g(t) is camplex, and that its real and umaginary parts constitute a Hilbert-

transform pair.

Q2.
Find the Fourier Transform of each of the signals shown in the following figure
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Q3.
Find the autocorrelation function of a power signal g(f) whose power spectral density is depicted in the

following figure

S(f)

Q4.
Consider two linear filter connected in cascade. Let X(r) be a stationary process with autocorrelation

function Ry(7).
(a) Find the autocorrelation function of ¥(#).

(b) Find the cross-correlation function Ryy{(1)
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(a) Find the powers spectral density of and autocorrelation
- (b) Find the mean and variance of n(t) :
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